

Government of Assam Office of the Divisional Forest Officer Digboi Division: Digboi

Ph.No.03751264433

Email ID: dfodigboi@gmail.com

Letter No.B/Diversion/OFC/2022/896

Dated: 20-04-2022

The Assistant Manager, Jio Digital Fibre Pvt. Ltd, Bijay Crescent Building, Rukmini Gaon, Six Mile, Guwahati-781022.

Sub: - "In Principle Approval" for diversion proposal of 0.915 ha. forest land for Digboi-Duliajan NLD Optical Route project in Upper Dehing Reserved Forest (West Block) under Digboi Division by Reliance Jio Infocom Ltd.

Ref: - Chief Conservator of Forests & Nodal Officer (FC Act), Assam's letter No.FG.27/FCA/ Proposal/Reliance Jio Infocom Ltd./Digboi Divn dtd.09-02-2022.

Dear Sir.

With reference to the subject cited above, I would like to inform you that In Principle Approval has been accorded for proposal no. FP/AS/OFC/116541/2020.

In this regards, the demand note for Compensatory Afforestation is attached below. You are requested to deposit this amount through parivesh portal.

1. Cost of Compensatory Afforestation as per the estimate

= Rs. 27,55,300.00

2. 50% Over Head Cost

Rs. 13,77,650.00 Total = Rs.41,32,949.00

This is for your kind information and necessary action.

Enclo:- Estimate of the plantation

Yours faithfully,

(T.C. Ranjith Ram, IFS) Divisional Forest Officer Digboi Division, Digboi

Dated: 20-04-2022

Letter No.A/Diversion/OFC/2022/779-80

- 1. The Chief Conservator of Forests & Nodal Officer (FC Act), O/o the Principal Chief Conservator of Forests & Head of Forest Force Assam, Panjabari, Guwahati-37 for favour of his kind information.
- 2. The Conservator of Forests Eastern Assam Circle, Jorhat for favour of his kind information.

(T.C. Ranjith Ram, IFS) **Divisional Forest Officer** Digboi Division, Digboi

Norms for 2 hect. Compensatory Afforestation plantation in Upper Dehing Reserve Forest (West Block) under Lakhipather Range against the diversion proposal of Digboi-Duliajan NLD Optical Route Project (0.915 ha.) by Reliance JIO Infocom Limited

Area (ha.)

2

Spacing (m x m)

2 X 2

Number of Saplings/ ha

2500

Length of Fence (RM)

577

Wage rate (Rs)

320

Increase in wage rate for subsequent years by a factor

1.1**

	Particulars of works		Qty./ Ha.	Total Qty.	Rate/ Unit	Amount (Rs.)	Applicable rate of GST/ Cess etc.		Total amount inclusive of GST/Cess
1							GST	Labour	
1	ERECTION OF FENCING							Cess	
	(a) Cost of full chain link fencing(4' ht with 10 guage 3" dia link) with 3 strand barbed wire (one strand below the chain link and two strand above the	RMs		577	1260	727020	14.05%	1%	83643
	chain link) to be filled on pre-cast RCC pillars of specific specification and size (2.1m x 0.125m x 0.125m) as per detail specification attached at 2.5 m apart, including transportation, fitting and fixing for 577 RM @ Rs.1260/RM as per estimate (detailed estimate enclosed)								
	Sub Total (A)					727020	14.059/	10/	02(12
В					-	727020	14.05%	1%	836437
	Cost of tools & implements Cost of RCC signboard & Gate including fitting and	Set Nos.		1	10000	10000	12%	1%	11300
	fixing of the same	Nos.		1	40000	40000	12%	1%	45200
L	Sub Total (B)					50000	12%	1%	56500
1	ADVANCE WORK (including site nursery)								
	Raising of Nursery for creation including vacancy filling for 3 (three) years (25% + 15% + 10%) and site nursery mortality 15% by using polypots	Nos.	4125	8250	10	82500			82500
	Site selection, surveying, demarcation, jungle cutting, slash disposal etc. 40 DLs/ha.	DLs	40	80	320	25600			25600
-	Sub Total (C)					108100		-	108100
1	CREATION								100100
	Soil working, carriage of stumps, polypot seedling and planting at the plantation site including, dibbling of seeds wherever necessary to complete raising of plantation with all necessary operation @ 50 DLs/ ha		50	100	320	32000	- I-0	- 	32000
L	Sub total (D)		1			32000			
1	E IST YEAR MAINTENANCE					34000			32000
	4 weeding, mulching and fire protection works @ 25 DLs/ ha/ weeding	DLs	100	200	320	64000			64000
	Maintenance and protection of field nursery and watch and ward for the plantation area (2 DL for 365 days)	DLs	2	730	320	233600			233600
1	Contingency	LS		<u> </u>	<u> </u>	15000			15000
1	Sub total (E)				 	312600			312600

T		the of works	Units	Qty./	Total Qty.	Rate/ Unit	Amount (Rs.)	Applicable Ces	rate of GST/ ss etc.	Total amount inclusive of GST/Cess
SL.		Particulars of works		на.	Qij.			GST	Labour	
0.	_					_		GS1	Cess	
4	N'D	TO THE PROPERTY AND E					70400			7040
1	1	YEAR MAINTENANCE edings, Mulching and fire protection works @	DLs	100	200	352	70400			
1	35 D	J c/ha/weeding	DI.	28	56	352	19712			19712
- 1	25%	vacancy filling by 1 year old seedlings from	DLs	20	50	332				256960
	nurs	ery @ 28 DLs/ha	DLs	2	730	352	256960			230900
	Mai	ntenance and protection of field nursery and ch and ward for the plantation area (2 DL for 365)	DES	_					1	
	wat day									10000
		intenance of camp hut, implements, upkeepment	LS				10000			
	of	plantation signboard, documentation, upkeepment			}				- 1	
	of	records and other misc. work							1	
							15000			15000
1	C	ontingency	LS	-		_	372072			372072
L	1	Sub Total (F	4—	-						62080
1	3 3	WEAR MAINTENANCE weedings, mulching and fire protection works @	DLs	80	160	388	62080			02080
1		20 DLs/ ha/ weeding					17940			17848
1	1	15% Vacancy filling by 2 year old seedlings from	DLs	23	46	388	17848			
	- 1	nursery @ 23 DLs/ ha	DLs	2	730	388	283240			283240
		Maintenance and protection of field nursery and		' '	,,,,,			ļ		1
١		watch and ward for the plantation area (2 DL for 36 days)								5000
1	١	Maintenance of camp hut, implements, upkeepmen	LS				5000			3000
1		of plantation signboard, documentation, upkeepmer	nt						l	
		of records etc.	LS	_	-		15000			15000
1		Contingency Sub Total (_	_	+		383168			383168
		4 TH YEAR MAINTENANCE	" -							20420
	Н	3 weedings, fire protection works @ 15 DLs/ ha/	DL	s 45	90	427	38430		(*)	38430
		weeding	- PY	s 1	365	427	155855			155855
		Maintenance and protection of field nursery and	DL	S 1	363	427	133033			
		watch and ward for the plantation area (1 DL for 3	"							
		days) Maintenance of camp hut, implements, upkeepmer	t LS				5000			5000
		of plantation signboard, documentation, upkeepme	nt				1		i	
		of records etc.			-	-	15000			. 15000
	1	Contingency Sub Total (LS H)	'	+		214285			214285
	-		"							
	1	Climber cutting, 3 weedings & other silvicultural	DL	s 45	90	470	42300			42300
	1	works and fire protection works @ 15 DLs/ ha			265	470	171550			171550
		Maintenance and protection of field nursery and	DI.	.s 1	365	470	. 1/1330			1715.50
		watch and ward for the plantation area (1 DL for 3 days)	03							
		Maintenance of camp hut, implements, upkeepmen	nt LS	3		1	5000			5000
		of plantation signboard, documentation &		4						
		upkeepment of records etc.	٠.,			-	15000			15000
		Contingency Sub Total	LS	,	+		15000 233850			233850
		Sub Total	1/				233630			2.00.0

1.		Particulars of works		Qty./ Ha.			Rate/ Unit	Amount (Rs.)	Applicable rate of GST/ Cess etc.		Total amount inclusive of GST/Cess
0.									GST	Labour Cess	US IT C. C.S.S
J	6TH	YEAR MAINTENANCE									
	Repa	airing of Chainlink fencing	LS					25000			25000
		nechanical thinning of alternate single strips in plantation; 1250 nos of stems/ha	DLs	62	1	24	517	64108			64108
		mber cutting, Silvicultural works and fire tection works @ 10 DLs/ ha	DLs	10	:	20	517	10340			10340
	of	intenance of camp hut, implements, upkeepment plantation signboard, documentation & keepment of records etc.	LS					5000			5000
1	C	ontingency	LS					9000		1	9000
		Sub Total (J.						113448			113448
		TH YEAR MAINTENANCE									
1	l l	Climber cutting, Silvicultural works and fire protection works @ 10 DLs/ ha	DLs	10)	20	569	11380			11380
	1 1	Maintenance of camp hut, implements, upkeepment of plantation signboard, documentation & upkeepment of records etc.	LS					5000			5000
		Contingency	LS					5000			5000
		Sub Total (I	(7)					21380			21380
	L	8th YEAR MAINTENANCE									
		Climber cutting, Silvicultural works and fire protection works @ 10 DLs/ ha	DL		0	20	626	12520			12520
		Maintenance of camp hut, implements, upkeepmen of plantation signboard, documentation & upkeepment of records etc.	t LS					5000			5000
	1	Contingency	LS	3				5000			5000
	_	Sub Total	L)					22520			22520
	M				_						
		Climber cutting, Silvicultural works and fire protection works @ 10 DLs/ ha	DI		10	20	689	13780			13780
		Maintenance of camp hut, implements, upkeepme of plantation signboard, documentation & upkeepment of records etc.						5000			5000
	1	Contingency	L	S				5000			5000
	-	Sub Total	(M)	-	-			23780			23780
	1	N 10th YEAR MAINTENANCE Climber cutting, Silvicultural works and fire protection works @ 10 DLs/ ha	D	Ls	10	20	758	15160			15160
		Maintenance of camp hut, implements, upkeepm of plantation signboard, documentation & upkeepment of records etc.		.S				5000			5000
		Contingency		LS			I to all the state of	5000			5000
		Sub Total						25160 2755300			25160
			Total (Sub Total A+B+C+D+E+F+G+H+I+J+K+L+M+N)								2755300
			Over Head Cost (50% of Compensatory Afforestation) Grnad Total								1377650
		Grnaa I	4132949	'		4132949					

(Rupees Forty one lakh thirty two thousand nine hundred forty nine) only

Technically Approved by

Circle in charge
Easter Rossam Circle, Jorhat
Eastern Assam Circle, Jorhat

56-04-2

Countersigned by

(T.C. Ranjith Ram, IFS)
Divisional Forest Officer
Divisional Procest Officer
Division Division, Digboi
Tinsukia, Assam

Submitted by

(Aldrona Kt Kaog Dyk)
1/c Lakhipather Range

Porest Range Officer-Lakhipathar R.